
PROOF OF FORMULA 3.553.1
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Use the change of variables t = 2x to write the integral as∫ ∞
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Entry 3.413.1 states that∫ ∞
0
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x
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.

Employ this formula with c = 1 − a and b = a and use the relation

Γ(a)Γ(1 − a) =
πa

sinπa
to produce the stated answer.
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